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Instructions. Answerall the questions from Section Rour questions from Section,Bwo questions from
Section C. Section D iompulsory.

SECTION A (5*4 = 20 marks)

S. No. Marks | CO
Q1 Explain the reasons of the shift in budget.line 4 2
Q2 Let the production function b@ = K°%2L%4, where Q represents level of output| K
and L denotes capital and labour respectively.
4 3
Find the degree of homogeneigyd determine the returns to scale for the g
production function.
Q3 What are the characteristics of monopoly markeicstire? 4 1
Q4 Describe different types of price discrimination. 4 1
Q5 What is price elasticity of demand,(? How to measure point elasticity of demarny 4 2
SECTION B (4*5 = 20 marks)
Q6 Compute the marginal rate of substitution betwegeand x,(MRS, .,) for the . 3
utility function u(xy, x,) = xfx¢
Q7 What is cartel? How oligopoly market structisreifferent from perfect 5 5
competition?
Q8 The total cost of production afunits of commodity is given as
C(x) = x3 —90x% + 7500x+500,x = 0.
5 3
(a) Compute the marginal cost functiéf(x).
(b) Find the level of output at which marginal cost is minimum.
Q9 What are the properties of isoquant curvestBéfocost line. 5 2
Q10 How increase in income of the consumer affeisteonsumption of two different 3

goods. Explain using indifference curve analysis.

SECTION C (2*15 = 30 marks)




Q11

Explain Slutsky’s theorem that price effect is $luen of substitution effect and incon
effect using graphs.

15

Q12

Describe consumer’s equilibrium through ifedénce curve analysis.

15

Q13

Assume that the production functionds= AL*K?, whereQ is level of outputA is
a constant, and andK denote labour and capital respectively.

Compute the marginal productlofandK,
Calculate the marginal rate of technical subsbtutMRTS; . between

15

SECTION D ( 30 marks)

Q 14

Let the utility function is given as(x,, x,) = xx2. The price per unit ofc; andx,
are given a®, andP- respectively. The total income of the consuméi.is

Find the optimum bundle of, andx, that will maximize the consumer’s utility/
satisfaction.

30






